Efficiency vs P,

10.05
o
9.045
3
©0.04
@
2.035
[J]

0.03
0.025

0.02
0.015 : ; :
0.0 i oo R
0.005

o +BF L L |||||||! L |||||||! L

8 F

o - TEF T v
0.95F -]

=
o@
N

1 10 . Gedf’

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

o

o

(o))
||||||||||||||||||||||||||||||||||||||||

+

W[

TP n

Efficiency vs ¢

o0.05
%) : : : : : :
?{045_" """" T o o A
Q : : : : : :
20.04f - P T T T
&) . . . . . .
$0.035F------ P P P e
o : : : : : :

0.03------ P P P S
O itk (AR SN AU | R

0028 # ------ it

0.005

0
1

Ratio

0.9

I

oft—=———=

n




	Contents
	Page 1


